Automation in Construction 128 (2021) 103734

AUTOMATION IN
CONSTRUCTION

Contents lists available at ScienceDirect

Automation in Construction

journal homepage: www.elsevier.com/locate/autcon

FI. SEVIER

Check for

Decision support system in management of concrete demolition waste | i’

Anna Sobotka, Joanna Sagan

AGH University of Science and Technology, Cracow, Poland

ARTICLE INFO ABSTRACT

Keywords:

Decision support system
Circular economy

C&D waste

Recycled concrete aggregate

Processes of concrete waste management can be carried out using various technological and organizational
systems. Such systems must meet the boundary conditions of a given project involving deconstruction of a
building and will differ in terms of waste management costs, environmental impact and nuisance to the sur-
rounding community. Selecting the most advantageous solution, taking into account numerous standards such as
sustainable development, requires a multiple-criteria analysis of such variants. The system presented in this work
supports the decision-making process in terms of choosing a technological and organizational solution in the field
of concrete waste management. It is based on a mathematical simulation model, which produces rating indicators
for technological-organizational waste management systems. Based on a synthetic rating indicator, the decision
maker is provided with a list of ranked variants to choose from. Moreover, the system analyses qualitative pa-
rameters, such as the building site area required and waste management time.

1. Introduction

The construction sector generates almost 35% of the EU’s waste,
which corresponds to 871°10° kg of waste per year to be utilized. In
business practice, construction waste is recovered to a great extent. The
share of concrete waste in the construction waste mass in EU countries is
in the range of 12 - 40% [1]. Next to brick waste (8-54%), concrete
represents the largest group of waste to be managed. Moreover, the
consumption of concrete is continuously increasing, hence the devel-
opment of techniques for its management in demolition processes is
required. The recovery rate for the construction and demolition waste in
the EU in 2016 was 89% [2] (the high recovery rate results from
including soil masses in the construction waste). However, the current
concept of social-economic development requires a holistic approach to
the organisation of waste recovery processes, including an efficiency
increase of the existing recovery systems in the three fields of sustain-
able development [3]. Increasing the effectiveness of activities associ-
ated with waste management requires knowledge about the profits and
losses as well as limitations related to the organisation of the processes
and their multi-criteria analysis.

In business practice, there are three basic systems of concrete waste
management (WM) [4,5]:

— Waste Recycling on a construction site by Mobile machinery (WRM),
— Waste Recycling on a Stationary waste processing site (WRS),

* Corresponding author at: Av. Przybyszewskiego 67/2, 31-128 Cracow, Poland.

E-mail address: joanna.sagan@agh.edu.pl (J. Sagan).

https://doi.org/10.1016/j.autcon.2021.103734

— Waste Transferring to business entities for Utilization (WTU).

If there are favourable conditions at the construction site, it is
possible to organise a mobile recycling line. Waste management in this
system involves storing waste on the construction site, transporting
machines for recycling, loading rubble into a crusher, crushing the
rubble, loading the aggregate onto trucks and transporting the aggregate
out of the construction site. The WRM system can be structured in a
variety of ways, by means of different types, numbers and capacities of
machines, using continuous, rhythmic or other work organization
methods.

In the WRS recycling system, waste is stored on the construction site
and loaded onto transport vehicles. Next, the waste is transported to an
external waste processing site where it is unloaded, subjected to recy-
cling processes, loaded again and transported in the form of aggregate
either to the storage site of the company performing the demolition or to
the customer. The WRS system can be structured depending on the
process organisation, the machinery used for loading and transporting
the aggregate (including the number of trucks) and the choice of the
rubble crushing service provider.

The WTU system assumes collection of waste in containers and its
subsequent removal to a recycling plant (subcontractor service). Such a
solution, despite many disadvantages, is applied particularly when there
are impurities of concrete rubble, lack of space and time for recovery
processes, or in the case of small amounts of waste. This system also

Received 26 November 2019; Received in revised form 17 April 2021; Accepted 21 April 2021

Available online 6 May 2021
0926-5805/© 2021 Elsevier B.V. All rights reserved.


mailto:joanna.sagan@agh.edu.pl
www.sciencedirect.com/science/journal/09265805
https://www.elsevier.com/locate/autcon
https://doi.org/10.1016/j.autcon.2021.103734
https://doi.org/10.1016/j.autcon.2021.103734
https://doi.org/10.1016/j.autcon.2021.103734
http://crossmark.crossref.org/dialog/?doi=10.1016/j.autcon.2021.103734&domain=pdf

A. Sobotka and J. Sagan

assumes a continuous waste collection manner and hence it does not
require any additional space (except for a container) to store waste on
site. Furthermore, the system assumes recultivation of the waste disposal
landscape in the future (this activity is actually common and affects the
environmental indicators of the system). On-site processes related to the
WTU system include:

— delivery of a container (by the service provider, i.e. the company
collecting the rubble),

— ongoing loading into the waste container, and

— waste collection following a fixed schedule or notifications by the
service provider.

The difficulty in selecting the best system variant of waste manage-
ment from a set of possible solutions stems from the multiplicity of pa-
rameters resulting from the individual character of each construction
project, such as transport distance, size of the construction site, time of
the construction works, age and efficiency of the machines [5].
Randomness of construction processes, which affects the uncertainty of
the results of the undertaken actions, is also of substantial significance. It
creates many barriers related to the organisation of waste management
processes, especially in the area of waste recovery systems (WRS, WRM),
which include:

— insufficient knowledge of the organisation of reverse supply chains
(61,

— uncertainty about the results of the implementation of reverse lo-
gistics (RL) [7,8],

— resistance to changes in the well-established procedures [9],

lack of resources, including financial ones, to cover initial costs

[10-12], and

— poor product quality [11].

Case studies of construction waste management presented in the
literature [13-18] confirm interdependence of individual parameters
and the results obtained. Limited experience in terms of changing
boundary conditions does not help entrepreneurs to eliminate the
above-mentioned barriers and makes it impossible to generalise con-
clusions on the effective waste management solutions.

One way of facilitating complex decision-making processes is to use
IT tools. Construction works are susceptible to external factors (envi-
ronmental, social, economic) as well as internal factors related to the
organisation of the investment process, i.e. mechanisation, staff selec-
tion, schedule creation [19]. For these reasons, decision support systems
are more and more frequently used in the construction sector in the
areas of risk management, safety, work contracting, technical conditions
assessment and others [20-29]. In construction waste management, the
available literature offers decision support tools to search for an optimal
location for the production of aggregate from recycled concrete
[13,30-32].

There is an obvious necessity to develop computer systems to support
decisions in the management of concrete waste, based on multi-
parameter models. Reliable information about profits and losses in
particular waste management systems would minimise the risk of
making a wrong decision. Thus, a barrier related to the risk of imple-
menting even non-standard waste management solutions in engineering
practice would be overcome.

Here, the authors propose a decision support system for concrete
waste management in construction projects. The article outlines the
assumptions (Section 2.1) and the adopted research methods (Section
2.2) as well as describes the subsequent development stages of the De-
cision Support System (DSS) (Sections 2.3-2.6). Section 3 provides an
example of how the DSS could be used in a construction project. Sections
4 and 5 present the discussion and final conclusions, respectively.

Automation in Construction 128 (2021) 103734
2. Methodology
2.1. Assumptions

The three basic waste management systems - WRM, WRS and WTU
have been identified based on an analysis of economic processes. Due to
a strong dependence of the effectiveness of concrete waste management
on work organisation and machinery, a set of implementation variants
has been considered within each system (Section 2.3). Each variant,
constituting a separate system of concrete waste management, is marked
with an appropriate acronym. The decision support system is dedicated
to companies specialising in construction demolition works. It is
assumed that the contractor has their own processing-storage site, where
they can both organise the crushing process and store the waste and
recycled aggregate. Moreover, it is assumed that they hold a permit for
the generation, collection, transport and processing of waste from group
17 01 O1.

System models have certain limitations, such as the area of the
construction site and the time needed for waste management processes.
Depending on the construction schedule, two variants are considered:

— Waste management begins after demolition works have been
completed, i.e. when the waste input stream intensity () is un-
limited. Therefore, it will take the form of the waste management
intensity (Iy):

I, = Igo (1.1)

— Waste management begins during demolition works. In such a case,
the waste input stream into the waste management system is corre-
lated with the efficiency of the demolition works. The model assumes
continuity of the waste management processes and the following
relation:

I, <L,

= fgos

1.2)

Then, the start time of waste management Ty, is set in the system:

T > (T —T,)- (1 - ’—) .3)

g0

where T, and T, are the start and completion time of the demolition
works, respectively.

It is assumed in this model that both rubble and aggregate are stored
in the form of piles up to 3500 kg/m?, in accordance with the storage
standards. The minimum area for recycling on the construction site is
determined on the basis of the size of the crusher and the size of the
aggregate prism zone. The model assumes that the excavator loads
rubble from the rubble slope - hence the additional operational area for
the excavator is not required.

The organisation of the demolition processes determines the purity
of concrete rubble. Therefore, the implementation of the demolition
processes in the course of deconstruction with selective waste collection
was adopted in the model. The model also assumes that the stream of
waste from the demolition processes is rubble cleared of primary rein-
forcement with the rubble size not exceeding 40 cm. This limitation is
based on the operating parameters of the smallest crusher included in
the model. The product of recycling is aggregate of 0-63 mm fraction. An
analysis of the construction market in Poland shows that this fraction is
characterized by the greatest demand and supply. In the construction
practice, this wide fraction is sieved and divided into smaller fractions
needed. The model assumes a continuous demand for recycled concrete
aggregate.

This paper analyses the following technological and organisational



A. Sobotka and J. Sagan

solutions of demolition works, which determine the waste stream
intensity:

— demolition using pneumatic hammers,

— manual demolition, and

— demolition using hydraulic hammers mounted as part of excavation
equipment.

In the study, demolition works are not included in the waste man-
agement systems and, therefore, are not assessed. However, it was
necessary to include them in the simulator to reflect the concrete waste
stream.

2.2. Concept of system development

The aim of this research project was to develop a model to support
decision making in the field of concrete waste management. The model
ranges from demolition processes to the management of concrete waste
by recovery or disposal. However, the demolition processes are not
assessed, they are only considered for waste stream modelling. The
assessment of WM systems is carried out from the perspective of the
contractor, so includes the costs to be incurred, the environmental
impact of the implemented operations and the direct social impact
(neighbourhood) of the construction site.

Defining systems and identifying their parameters followed obser-
vations of waste management processes during demolition works as well
as interviews with the supervisors of such works and companies sup-
plying construction machinery and equipment. The data collected in this
way allowed us to single out and describe (analytically and logically)
elements of the systems (such as waste streams, machines and devices
used) and relations between them and their features. Hypotheses and
theories available in the literature, our own measurements, including
measurements in situ (e.g. of the noise level, works timing), catalogue
data and machinery technical data were used to find the character and

LIMITING CONDITIONS

1st waste management

____________ - e e e o o
system model

____________ Sl 2nd waste management
system model

____________ Sl (...) waste management r

system model

[
1st system | 1st element
-+
element | model
|
2nd system 2nd element Q
element model < g
Real system %:
(...) system (...) element =
element model
——— |

I Elementary [
environmental
impact model

SIMULATOR

n-th system
element

Elementary social
| impact model
|

n-th element model

A T T T 2 T

Model of the n-th concrete
waste management system

Automation in Construction 128 (2021) 103734

values of individual parameters (see more in Sections 2.3-2.4). A list of
input variables, system elements and modelled processes are summar-
ised in Appendix 1.

The role of the simulator in the system was to provide evaluation
indicators (Costpoint, Sociopoint and Ecopoint) for a multi-criteria
analysis. The simulator also allows checking the limiting conditions
related to the duration of the waste management processes and the
construction area required. The values of the economic, social and
environmental indicators are passed on to the multi-criteria analysis
module, where the systems are evaluated based on the decision-maker’s
preferences. The results of the analyses are presented via a user inter-
face. The concept of the decision-making system structure proposed by
the authors is presented in Fig. 1.

The basic modules of the OptiC&DWaste decision-making system are:

— User interface - a module that allows the decision maker to enter the
input data necessary to perform a simulation;

— Simulator - a module that simulates the operation of a given system.
In this part of the programme, indicators for the evaluation of the
systems are calculated;

— Systems evaluation module - a module that performs a multi-criteria
analysis of variants and determines the system limitations;

— Explanatory module - a module that presents the results of system
evaluations as a ranking list and charts, as well as it provides infor-
mation about the limitations.

Conceptually, a realisation of the DSS requires:

—

A definition and description of concrete waste management systems,
including recovery systems, i.e., the specification of system bound-
aries and limitations, structure and elements (described in Section
2.3).

II A mathematical description of the model parameters (Section 2.4):

r e
|

N
Indicators of the 1st |

—H‘ waste management |

} Indicators of the 2nd |
—> waste management ———
system !

r—

]
| Indicators of the (...) |
waste management :7

|
| Ekopoint - | }
| environmental } |
‘ \
| |

|
| |

Results of the |
| systems }
assessmentsand |
|
|

indicator

L"\ MULTI-CRITERIA

ANALYSIS MODULE . R
I information about

|

|

| | limitations |
| b
I

|
|
|
|
|
. |

3

Indicators of the n-th oW
waste management } E fé
system | 88
22
| o 2
==

l«——— USERINTERFACE

|

The weight of |
environmental }
aspects |

set of variables | |
and parameters w
|
|

!

] P

|
| social aspects

|

|

|

|

|

Fig. 1. Scheme of DSS structure.



A. Sobotka and J. Sagan

— the efficiency of the systems as well as the waste stream intensity,

— the costs of waste management systems and of machinery operation,
the profits from the sale of aggregates and other,

— the environmental impacts of waste management processes,
including the selection of indicators for the assessment of environ-
mental impacts and methods of their standardisation and weighing,

— individual environmental indicators for all elementary processes,

— the social impacts, including the selection of indicators representing
the social aspect, and the development of methods for their
determination.

III A multi-criteria analysis module for the variants (Section 2.5).

IV Simulation modelling of the waste management systems and a
simulator (computer program) for the models (Section 2.6).

V Verification and validation of the developed models. The work
was carried out with a use of the following methods: data
confrontation, extreme conditions test, sensitivity analysis and
compatibility tests.

VI Transformation of the simulator into a DSS, further referred to as
OptiC&DWaste (Section 2.6).

2.3. Description of waste management systems

2.3.1. Waste recycling on a construction site by mobile machinery

A recycling system on a construction site can use a variety of work
organisation structures and machines with different capacities. The
organisation of work determines the costs of on-site recycling processes
as well as their environmental and social impacts. Fig. 2 presents one
variant of organization in the WRM system.

This study considered the possibility of implementing the WRM
system using four different crushers (Table 1) and four excavators of
different capacities (Table 2) combined into a technological process
forming a total of 10 variants (K1E1; K2E1-E2; K3E1-E3; K4E1-E4). The
technological compatibility of the machines, i.e. the size of the exca-
vator bucket and the size of the loaded basket of a crusher, were taken
into account. Each variant is a unique realisation of the recycling system
on the construction site and hence evaluated separately.

In the study, it is possible to create and implement a WRM system
based on other organisational structures.

2.3.2. Waste recycling on a stationary waste processing site

Another system considered in this study is the WRS system, in which
the recycling processes take place on an external waste processing site
by means of an independent service. In this system, concrete waste is
loaded onto transport vehicles by excavators and transported to an
outside waste processing site where it is unloaded and recycled. The
aggregate is loaded onto transport vehicles and transported to the
storage site of an enterprise, where it is unloaded and sold. In the
adopted work organisation structure (Fig. 3), a single truck serves all

Automation in Construction 128 (2021) 103734

Table 1
Types of crushers considered in the system (based on machine catalogues).

Marking ~ Weight of Average technical capacity ~ Electric motor
crusher [kg] [10° kg/h] power [kW]
K1 1400 10 10.8
K2 2900 17.5 29.6
K3 10,000 40 52.0
K4 27,800 125 168
Table 2

Excavator variants (based on machine catalogues).

Marking Motor power [kW] Maximum bucket volume [m®]
El 29.6 0.18
E2 72.0 0.40
E3 110.0 1.50
E4 159.0 2.00

transport links in the concrete recovery logistics chain. This means that
its work cycle involves transporting the waste to a stationary site,
unloading the rubble, waiting for the rubble to be crushed, collecting the
aggregate, transporting the aggregate to the storage site, where it is
unloaded, and returning to the loading operation station at the con-
struction site.

In WRS, different variants were used in terms of the load capacity of
machines, the number of transport vehicles (Table 3) and the type of
excavator at the operation station (Table 2).

Ultimately, for each excavator, four types of tippers (S1 — S4) were
considered in a quantity from 1 to 10. The system assumes that high-
capacity machines (E3 and K4) operate on the stationary plant.

2.3.3. Transporting waste to business entities for utilization

The last system under consideration here, WTU, being also the
reference point for the recovery systems WRS and WRM, is a system of
transferring waste to business entities and their waste disposal plant. In
this system, the contractor must only load the waste into provided
containers and the remaining waste management processes are taken
care of by the waste recipient. The volume of the container (12 different
capacities from 3 m? to 25 m3, with an interval of 2 m®) and the size of
the excavator (E1-E4) are used as variants and in total give 48 variants in
the system. The number of containers needed for each variant is calcu-
lated from the input data.

2.4. Mathematical modelling

2.4.1. Waste stream

Concrete waste stream can be measured by the amount of waste
produced per unit of time, i.e. the efficiency of demolition works. To
model the average value of concrete waste stream (®,, m®/h, the labour

®

L

b o

Construction site

L0 e o | ®
_(g‘e‘, “‘f&%‘ mf@-

®

1- deconstruction/demolition of concrete structure, 2 - debris storage, 3 — debris crushing, 4 - aggregates loading,
5 - customer receipt

Fig. 2. Organisation variant in WRM system.



A. Sobotka and J. Sagan

Automation in Construction 128 (2021) 103734

@ Construction site ‘ External recycling yard ®[u Storage yard
L0y @ @ ’ ® Ly ) >
L1 G0 e e %t% 2 TR e
o 0 mr"o-‘ ’ oodo. _— oolo. ooo.
®

1- deconstruction/demolition of concrete structure; debris: 2 — storage, 3 - loading,
4 - transport, 5-unloading, 6 — crushing; aggregates: 7- loading, 8 - transport, 9 — unloading; 10 — truck returns

Fig. 3. Scheme of the adopted organisational structure of the WRS system.

Table 3
Truck variants (based on machine catalogues).

Vehicle type Symbol Load capacity (model) [10° kg]
Tipper (from 1 to 10) S1 Up to 10

S2 over 10 to 15

S3 over 15 to 20

S4 More than 20

intensity of demolition works is used:

&, =W, = IN,, 1.4)
where W, is the operating efficiency of the works, m3/h, which is
determined from the working time standard [h/m3]). The labour in-
tensity standards for manual and pneumatic demolition works used in
this work were adopted from the Catalogue of material expenditures
(KNR 4-04 Demolition of buildings and structures).

In case of demolition using hydraulic hammers mounted on exca-
vator equipment, the modelling of the waste stream follows a parametric
method of work standardisation, making the efficiency of work depen-
dent on the thickness (x) of the element subjected to demolition. The
functional relationship between the technical capacity of the hammer
and the thickness of the element is determined by approximation of the
data obtained from the hammer manufacturer (Table 4).

The description of the actual system, however, requires the deter-
mination of the capacity of the hammers. For this purpose, auxiliary
processes and no-load runs of the hammers were identified and
measured. The research was conducted by observations of the
modernisation works of the furnace building and the tank at the “Saint
Gobain” plant in Dabrowa Gérnicza on 21-23 February 2018. The results
are as follows:

— the dust settlement time and the hammer touchdown point change
(average of idle runs): 36.93% operational working time (tg),

— the rubble and reinforcement removal time to enable continuation of
works (average of the auxiliary processes.): 44.25% tg.

Table 4
Technical capacity of hydraulic hammers (m®/h) as a function of element
thickness (x cm).

Model  Capacity = Material type Functional form of technical capacity (in
the range 5-140 cm)
X Small Concrete Win(x)= 0.0001x> - 0.0192x> + 0.8379x
+ 3.1396
Reinforced Win(x) = 8E-05%° - 0.0135x> + 0.598x +
concrete 1.3862
Y Medium  Concrete Win(x) = 3E-05x> - 0.0118x> + 0.9726x
+ 7.866
Reinforced Win(x)= 2E-05% - 0.0069%> + 0.5829x -+
concrete 6.258
Z Large Concrete W)= —4E-05x° - 0.0015x> + 0.8365x
+ 11.517
Reinforced Win(x)= —1E-05x> - 0.0032x> + 0.5977x
concrete + 7.3226

The time of technical and organisational breaks (t,) and the time for
physiological needs (tf) of the machine operators were adopted from
[331].

Construction works are highly sensitive to changing environmental
conditions, including atmospheric conditions [19]. Other factors inter-
fering with the construction process are [19,34]: poor organisation of
work, human factor, machine failures and more. According to research
[35-39], the operational performance of construction works is a random
variable with the following distributions (depending on the type of
works): beta, triangular, logarithmic-normal, Poisson and others. The
triangular distribution was adopted to reflect the variability of the waste
stream. The average value of the distribution was taken from labour
intensity standards, while its range of variability was dependent on the
expected scope of interference in the works (Table 5). This relationship
was established based on interviews with experts.

Due to the change in the structure of concrete from solid to aggre-
gate, the waste stream is expressed in mass units [10° kg/h], assuming
the volume density of concrete recommended by the Eurocode 1 [40] of
2400 kg/m°, while the bulk density of rubble was assumed, by experi-
ence, to follow a uniform distribution in the range of 1700-2000 kg/m>.

2.4.2. Description of the elements of the waste management systems

Indicators of economic, ecological and social aspects are correlated
with the working time of the particular elements of the system (ma-
chines), hence, their simulation description is necessary. The capacities
of the excavators K1 and K4 were measured during their rubble loading
operations. The observations confirmed the logarithmic-normal distri-
bution hypothesis of the working cycle time of the excavators and that
the sample was representative. Given the linear relationship between
the working cycle time of a machine and the size of the bucket [46], the
average value of the working cycle time of the excavators K2 and K3 was
determined analytically by interpolation. The results are summarized in
Table 6.

One of the parameters affecting the work efficiency of an excavator is
the filling ratio of the bucket. Observations were carried out, consisting
in a subjective assessment of bucket filling with concrete rubble from
demolition. The experiment confirmed the representativeness of the
research sample and the normal distribution hypothesis for this variable
with an average value of 0.73 (bucket filling ratio).

The time of the crushing process and the no-load run of the crusher
depends on the work efficiency of the excavator (which acts as a loader).
Thus, the entire work station was modelled based on observations. The
auxiliary processes time is the time needed to clean the crusher mouth
by removing rebars and other elements blocking the jaws and amounted

Table 5

Variability range of demolition works efficiency.
Range of Low Medium High
interference
Range of +19.58% of the +35.80% of the +19.58% of the

variability’ expected value expected value expected value

1 Arithmetic mean of the answers given by experts (13 respondents).



A. Sobotka and J. Sagan

Table 6

Working cycle time of excavators during loading operations.
Excavator Average value of the working cycle time of the Method
symbol excavator £ [s]
K1 11.39 Experimental
K2 13.47 Interpolated
K3 23.87 Interpolated
K4 28.60 Experimental

to 14.4% of the crushing time. The time of technical and organisational
breaks and the time for physiological needs of the machine operators
was adopted from [33].

The efficiency of the WRS system was found using the mass service
theory. In practice, in a modelled system, there are two different oper-
ating stations - one for loading and one for crushing. Stationary crush-
ing, however, is characterised by high efficiency, hence it is assumed
that no queue is formed at the crushing station. Therefore, the system is
considered as an M/M/1 system (according to D. Kendall’s classifica-
tion) with feedback, where the operating station is an excavator on the
construction site loading rubble onto hopper trucks. The average speed
of transport vehicles was adopted from the characteristics of truck traffic
in Poland [41]. The operating time at the stationary site as well as the
loading and transport time are the results of a simulation, while the total
transport distance is a variable controlled by the decision-maker.

2.4.3. Costs

An analysis of the system operation costs was done by classifying
costs by function and inventorying individual operation costs of specific
elements. The analysis included an evaluation of the costs of transport
and crushers, depreciation (using the linear method), servicing, insur-
ance, technical maintenance, repairs, additional charges (tachograph,
road tolls), vehicle tax, fuel, lubricants and oils, tyres, average one-off
costs, mark-ups for fixed and changeable costs. The unit costs of exca-
vator operation were taken from the price list [42]. The loss of the
excavator working time in the WTU system was calculated as a potential
profit of excavator rental. The prices of the external services in the
model were based on the author’s market research. Approximately, the
unit cost of collecting concrete waste for landfilling (Cj,[PLN/Mg]
equals:

Gy, = 159.75- v, %% .
where Vj is the container volume expressed in cubic meters.

2.4.4. Environmental impact

The classical LCA method was used to describe the impact of waste
management processes on the environment [43-47]. Seven main envi-
ronmental indicators recommended by a standard dedicated to con-
struction processes were used to assess the following environmental
aspects [48]: global warming (GWP), ozone depletion (ODP), soil and
water acidification (AP), eutrophication (EP), photochemical ozone
formation (POCP), abiotic resource depletion — elements (ADPe), abiotic
fossil fuel depletion (ADPf). The characterisation coefficients derived
from the CML-IA database [49] were used to calculate the indicator
values. Next, the indicators were normalised and weighed in order to
obtain a single-point evaluation — Ecopoint (Ep). The authors are
convinced that it is necessary to integrate political strategies with eco-
nomic activities. Thus, the paper adopts a method of standardisation and
determines the significance of the environmental indicators based on the
EU objectives set for 2020 [50].

Software GaBi [51] was used to carry out an inventory of input and
output streams of individual processes and determine the values of the
environmental indicators. However, since environmental assessment is
not a common practice in the industry, the database dedicated to con-
struction processes is limited. Therefore, to determine the environ-
mental indicators, models of exhaust emissions from combustion

Automation in Construction 128 (2021) 103734

engines of construction machinery were also used. The NONROAD
model was used for calculations [52] given its easy accessibility, uni-
versality of application and method clarity.

One of the main parameters determining fuel consumption and
emissions from a diesel combustion engine is the load of the engine
during construction works. It is dependent on many variables, especially
working conditions. In the simulator designed in this work, the load
factor of an excavator engine was modelled as a random variable with an
even distribution within the limits of the classification given by Cater-
pillar for average operating conditions of the excavator, i.e. from 0.38 to
0.56 [53].

The model takes into account environmental impacts related to the
fuel supply chain using the EU-28 Diesel mix at filling station ts model. In
turn, the EU-28:Construction waste dumping (EN15804 C4) ts model was
applied to determine the environmental indicators related to concrete
waste storage. The values of the environmental indicators for recycled
aggregate were taken from [54].

2.4.5. Social impact

Currently, the impact of noise on third parties is included in the
decision-making system. The authors propose an adaptation of the
models of sound waves propagation. The value of the equipment sound
pressure level is taken from the catalogue of acoustic power. The dis-
tance r from the source is a model parameter, measured as the shortest
distance between the sound source and the noise protection zone
defined in the Regulation of the Minister of Environment of Poland,
published on 14 June 2007 [60] on permissible noise levels in the
environment. Following Weber-Fechner’s theory [55] of the relation-
ship between the physical measure of a stimulus and the response of the
senses, sound level (noise intensity) is expressed in decibels (dB), which
express the sound pressure up to the threshold of audibility on a loga-
rithmic scale. However, the noise level (dB) determined in this way does
not reflect its harmfulness, therefore, the noise indicator is proposed as a
multiple of the noise exposure level standard (kpaeq) [561:
kLAa, — IO(LAan*LAu,n)'U»I’ (16)
where Laeq, 7 is the acceptable noise exposure level and Laegp is the
calculated noise exposure level, both expressed in dB.

While observing the processes of concrete waste management, a
significant problem of dustiness was also observed (Fig. 4). In the au-
thors’ own research, only non-standardized dust measurements were
carried out using a Microdust Pro meter. However, due to a large
discrepancy between the results and the observed sensitivity to weather
conditions, this part of the studies was considered unrepresentative.

2.5. Multi-criteria analysis module

The spider web method was used to evaluate the variants. In this
method, the evaluation result is represented by the surface area of a
triangle (P;) with vertices zy;, 22, 23; located on the axes of a coordinate
system, where each vertex is a weighed measure of the economic (2x;),
environmental (2.;) and social criteria (zs).

P = \/(Zk[‘Zm‘)z + (Ze['zsi)z + (Zk[‘Zsi)27 1.7)

As the decision-making system is designed to identify the most
favourable solution under given conditions within the set of acceptable
solutions, the result of the evaluation is a function of the system objec-
tive. The evaluation result of a given system is also a measure of its
effectiveness. For the assumed quality factor of the system, consistent
with the direction of the axis, the function of the target (Z) takes the
following form:

Z=max(P1, Py, ..., P), (1.8)

with all indicators considered as destimulants. A positive cost result is a



A. Sobotka and J. Sagan

Automation in Construction 128 (2021) 103734

Fig. 4. Observed dustiness around the crusher.

cost to bear, a negative cost result is a profit.
2.6. Transformation of model into DSS

Due to the size and complexity of the OptiC&DWaste system, its parts
have been tested individually and the results have been formulated
separately. The system has a regular structure consisting of hierar-
chically built modules linked to and communicating with each other
using strictly defined rules.

The simulator evaluates indicators in accordance with the pre-
defined rules in the computer system, including the simulation pro-
cesses realised for the input values. It consists of four modules - one
dedicated to demolition processes and three corresponding to the sys-
tems analysed.

The systems are evaluated using statistical methods, which require a
sufficient number of observations carried out in subsequent iterations.
The variance of the results depends on the model parameters, and,
hence, on a variable number of experiments required for the assumed
confidence level. The simulator optimises the number of iterations
through a pilot experiment consisting of 35 runs on the input data set
and calculates the required number of runs (n) according to formula
(1.9):

~2
2
tasl

2

n> 1.9

where t, is a t-Student distribution parameter for the confidence level (1

— a) and (ng — 1) degrees of freedom; §f is a variance from the sample;
and d is the assumed permissible error in the estimate of the mean. If the
number of runs is insufficient, the set of results is completed in subse-
quent iterations.

The DSS system was developed according to the structure presented
in Fig. 1; the system was programmed in MATLAB Software.

3. Results

We present a tool supporting the decision-making process in a
broader context of its application, i.e. requirements and interpretation of
outcomes.

A construction project is a set of processes that must be identified,
organised, optimised, carried out and controlled in order to increase the
efficiency of company’s operations. The decision to initiate activities
related to the planning and design of waste management processes is
preceded by an evaluation if the DSS system is an appropriate tool to
solve a task. Since the system requires a preparation of input data on the
construction site conditions and its surroundings, specific tasks were
assigned to individual participants of the investment process. Typically,
the initiation of activities is performed by the project manager who gives
instructions to:

— the cost estimator to assess quantitatively and qualitatively the
sources of concrete waste using the facility documentation,

— the planner to analyse the construction condition and logistical
possibilities of the construction site, and the time constraints for
waste management processes,

— the market analyst to examine the market in terms of waste man-
agement services and the prices of recycled aggregate.

The collected information constitutes a database for the programme.
Next, the programme assesses the effectiveness of waste management
systems and specifies the limiting conditions for their implementation.
The decision-maker, knowing the limitations of the systems and the
limitations of the construction site, chooses the most advantageous so-
lution and makes a proper disposition to the works manager.

The example analysis was carried out for the Institute of National
Remembrance building in Lublin. Input data was extracted from the
technical documentation of the facility, the land development project
and a local reconnaissance (services market, prices at aggregate sales). A
summary of the input data is presented in Table 7.

Based on the input data, the software determines the evaluation in-
dicators for all variants. In the case study, the difference between the
highest and lowest costs in the waste management process is nearly PLN
239,100 depending on the technological and organizational variant. The
highest cost (PLN 155,560) is generated by the system of rubble transfer
to economic entities (WPOVK3EL), in which the waste is not subject to
recovery processes. The costs in the WPO system decrease with an in-
crease in the volume of the container, while the selection of a waste
loading machine on this scale does not significantly affect the costs. In
the WRM system for all variants, the income from aggregate sales covers
the cost of waste management processes, generating additional profit for
the entrepreneur (from PLN 37,542 PLN to almost PLN 83,540 in the
WRMKA4ES3 system). On the other hand, in the WRS system, the trends
are not so unambiguous. The system, depending on the number of
transport units and the performance of an excavator, generates either
financial profits or losses. The highest efficiency of the system is char-
acterized by the WRSK3S4.3 variant (PLN 35,161).

Similar general trends were found in relation to environmental in-
dicators. The least favourable solution from the environmental point of
view is the system of waste transfer for utilization (Ep = 0.956). Envi-
ronmental indicators decrease with the volume of the container due to
the efficiency of rubble transport processes. The values of the indicators
for the other systems (WRS and WRM) are, on average, an order of
magnitude lower (Ep range: 0.0065-0.02). Such a significant difference
is caused by high environmental indicators of waste storage in the WTU
system and environmental gains from recycling in WRS and WRM.

A different tendency characterizes the systems in terms of social
nuisance. Recycling processes on the construction site (WRM) signifi-
cantly decrease the comfort of residents through noise. Due to the small
area of the construction site and close vicinity of nearby buildings (about
30 m from the plot boundary), assuming the continuity of machines
operation for eight hours, noise exposure level standard is exceeded for



A. Sobotka and J. Sagan

Table 7
Variables defined for experimental purposes.

Input variables

Volume of concrete building elements: (walls,
ceilings, beams and joists, columns and
pillars, foundations, concrete substrates)

Average thickness of building elements

Presence of reinforcement ~ Columns and

According to the bill of quantities
(ceilings, beams, columns, walls)

in the element pillars
Walls
Foundations
Expected scope of interference with Low

demolition works
Choice of demolition methods
Choice of hydraulic hammer capacity
Determination of the noise protection zone in
the surroundings of the construction site
Distance of the construction work station from 30 m
the areas covered by noise protection
Transport distance of the crusher from the
equipment base
Transport distance between the stationary 6 km
recycling site and the construction site

hydraulic hammer
medium
Zone III

200 km

Transport distance between the stationary 30 km
recycling site and the storage site of a
company

Transport distance between the company’s 40 km

storage site and the construction site
Unit cost of stationary crushing service
Annual cost of warehouse maintenance
Annual turnover of goods in storage
Unit selling price of aggregates

10.00 PLN/ 10° kg
PLN 10,000
20,000 x 10° kg
30.00 PLN/ 10° kg

Importance of the economic aspect 60%
Importance of the environmental aspect 20%
Importance of the social aspect 20%

all WRM systems (kpgeq ranges from 5 (WRMKIE1) to 1127
(WRMK4E4)). The lowest value was obtained for system WPOVK25E2 -
1.33. Based on the sustainable evaluation indicators and the weight of
criteria reflecting the preferences of the decision maker, the systems
have been assessed and ranked from best to worst. To illustrate the
operation of the DSS, the evaluation and overview of the indicators for
the first 10 systems in the ranking list are presented in Table 8.

A graphic interpretation of the standardised evaluation indicators for
the ten best solutions is shown in Fig. 5.

As the considered construction site is small in size, it was assumed
that the maximum area that can be used as a concrete waste storage site

Table 8
Results of system evaluation.

No.  System System Evaluation indicators
acron evaluation
ym Kp [PLN] Ep[-]1  Sp(ky,)

1 WRMK3E2 0.271 —7.29E+04  7.32E- 4.62E+01
03

2 WRMK3E1 0.268 —6.98E+04  6,67E- 4.21E+01
03

3 WRKM3E3 0.267 —6.94E+04  7.18E- 5.09E+01
03

4 WRMK2E2 0.256 —5.79E+04 8.28E- 2.47E+01
03

5 WRMK2E1 0.255 —5.65E+04  7.12E- 2.06E+01
03

6 WRMK1E1 0.235 —3.75E+04  7.48E- 4.83E+00
03

7 WRSE4S3.3 0.231 —3.52E+04  8.35E- 1.04E+01
03

8 WRSE3S3.4 0.231 —3.49E+04  9.04E- 1.04E+01
03

9 WRSE4S3.4 0.231 —3.48E+04 8.44E- 1.04E+01
03

10 WRSE3S3.3 0.231 —3.47E+04  8.96E- 1.04E+01
03

Automation in Construction 128 (2021) 103734

and a recycling site is 350 m?. This condition is met by the WRMK2E2
system in which the recycling processes take place on the construction
site, using a small crusher and a small excavator. In the ranking list, the
system is in the forth position (Table 9). However, it requires extending
the project implementation time by 43 working hours, which amounts to
nearly 5.5 working days. Nevertheless, it was assumed that the planner
would allow such a solution because of the possibility of carrying out
parallel works related to the completion of the construction, i.e. clearing
the construction site, removing temporary installations, levelling the
ground, etc. Thus, variant 4 from the ranking list was finally selected,
assuming the performance of crushing processes at the construction site
with the use of small-sized equipment. What is more, such a choice re-
duces the risk of complaints and penalties related to the violation of the
noise standards. Limiting factors caused a decrease in the effectiveness
of the solutions both financially (by nearly PLN 15000) and environ-
mentally (by 8%) aspects.

4. Discussion

Decision support systems have found wide applications in process
controlling, building designing, diagnostics (technical, medical, risk-
related) and in planning processes in many fields of life, e.g. banking,
industry, commerce [57]. Their usefulness is becoming more and more
evident in construction [58,59] with growing projects complexity and
market uncertainty, sensitivity of construction works to external con-
ditions as well as issues connected to the organization of investment
processes [19].

The DSS presented in this work is a tool facilitating selection of
concrete waste management method in construction works. The system
compares technological and organizational systems of waste manage-
ment for specific building site conditions taking into account the tech-
nology of demolition works (which determine the waste stream). Two
out of the three systems analysed here (WRM, WRS) are elements of
reversed supply chains and hence of circular economy, whereas the third
system (WTU) constitutes both a reference point and an alternative so-
lution when recycling is impossible (e.g. the material has impurities, it is
not possible to conduct mobile recovery, there are no stationary
facilities).

Securing waste recycling is now a basic but not the only condition in
the modern economy. Waste management processes should be effective
environmentally, socially and economically [60]. The building industry
has a great potential to alleviate the environmental and socio-economic
burdens and from this point of view it is far from optimum. Specifically,
the following barriers are worth noticing in this field [11,12,61-64]:

(1) organization problem related to a limited building site area and
time-consuming waste management processes (bulky waste),

(2) no awareness of recycling-related benefits,

(3) long life-cycle of products and hence a changing character of
waste,

Table. 9
A list of limitations of the first ten systems from the ranking list.

System Start time of waste Extension of Required storage +
management works [working- technological yard
processes’ hours] [m?]

WRMK3E2 68 0 522

WRMK3E1 66 0 507

WRKM3E3 68 0 522

WRMK2E2 0 43 255

WRMK2E1 0 43 255

WRMK1E1 0 192 577

WRSE4S3.3 50 0 318
WRSE3S3.4 71 0 456
WRSE4S3.4 72 0 460
WRSE3S3.3 49 0 316

1 0 - starting time (working hour) of the demolition of concrete elements



A. Sobotka and J. Sagan

0.25
0.24
0.23
0.22
0.21 O WRMK3E2
— #  WRMK3E1
t 0.2 5 WRMK3E3
2 O WRMK2E2
0.19 o WRMK2E2
1 WRMK2E1
0.18 v Oy X WRSS3E4.3
O WRSS3E3.4
017 O WRSS3E4.4
WRSS3E3.3
0.16
0.15 .|
0.2136

0.2134

0.2132 09 0.95

Ep [ 0213 475 0.8

Kp []

Fig. 5. A diagram of standardised evaluation indicators of ten best solutions-
When selecting a system, the decision-maker cannot base their choice merely on
the results of the evaluation, but should also take into account the limiting
conditions defined by the planner. Therefore, the system provides information
about the limitations of the variants analysed (Table 9).

(4) misadaptation of existing objects to deconstruction.

The decision-making support system presented in this article (called
OptiC&Dwaste) provides unambiguous information on the costs of
waste management in a selected system and can have a positive influ-
ence on the environment and the vicinity of a building site through noise
reduction (indicators for the decision-maker). Moreover, the system
informs about the construction site needed and prolongation of the
building process as a result of the time of waste management. This in-
formation may be used to eliminate barriers in effective implementation
of waste management methods (barriers 1 and 2).

There are four factors that contribute to effective CDWM, namely
CDW stakeholders’attitudes, CDW project life cycle, CDWM from sus-
tainability perspective,and CDWM tools [65]. Such tools were classified
into three main groups [60]:

— IT-based tools in CDWM including building information modelling
(BIM), global positioning system (GPS), geographic information
system (GIS), radio frequency identification (RFID), and big data
(BD);

— CDWM approaches including lean principle, zero waste management
approach, circular economy, green rating system, and site waste
management plan;

— CDWM technologies including industrialised building system (IBS)
and modularization.

OptiC&Dwaste fits in group one, but it is not yet a comprehensive
tool. The currently developed DSS aims at providing information about
the selected (simple but common in practice) concrete waste manage-
ment systems. It is possible to expand waste management scenarios with
more advanced concrete aggregate recycling systems to guarantee
higher product quality e.g., like that presented in [66]. The developed
methodology can also be used to assess the management systems for
other construction waste. For more comprehensive applications and to
simplify the data acquisition process, the system should be com-
plemented with technologies such as BIM (in terms of waste quantities),
BD of stationary plants and their geographical location (GIS).

Due to the complexity and multi-parametric nature of the evaluation
indicators, the models have been simplified. Parameters that are not
mentioned and not fully discussed in the paper, such as operator skills,
fuel quality, age of machines, wind direction and others, also influence
the assessment results. They are now included indirectly (e.g., through

Automation in Construction 128 (2021) 103734

the engine load index) or generalized through the use of average values
(e.g., machine age). It is possible to add these parameters more explicitly
in further stages of this project. The selection of the parameters to be
developed will be based on a sensitivity analysis of the assessment
indicators.

Since OptiC&DWaste assesses the waste management systems in
three dimensions of sustainability in a qualitative way, it offers a sub-
stantial improvement in terms of the social aspects. In the current form
of the system, the noise indicator has been included in the ranking of the
solutions without imposing any restrictive conditions. However,
exceeding the noise level entails a potential additional cost in the form of
financial penalties, which should be considered in further work. Ac-
cording to the evaluation of social impacts [67], dustiness should be
taken into account. Nevertheless, the own on site tests did not give ac-
curate results. The literature [68-70] reports the levels of dustiness
mainly for construction works and to a limited extent concerns concrete
waste management processes. Moreover, the literature results show
discrepancies and the measurements were related to different dust
fractions (total dust/respirable dust). Therefore it was not possible to
supplement the model on this basis.

OptiC&DWaste provides evaluation of the results of simulation ex-
periments and currently the user obtains a one-point rating of an
average value. In further stages of software development, statistical
results should be made accessible to the user, which will enable them to
analyse the risk associated with the decision-making process.

The last evaluation indicator concerns the weights of the criteria.
Currently, in the system, the decision-maker has a possibility to set their
weights. However, due to Client’s inappropriate attitude towards con-
struction and demolition waste management by prioritizing profit
instead of waste [71], some limitations could be introduced, e.g. in line
with the standards of sustainable construction and demolition waste
management. This would contribute to increasing the sustainable effi-
ciency of concrete demolition waste management.

5. Summary

Concrete has been used in construction for centuries, but yet it is a
source of large amounts of waste. Effective waste management presents
a problem when it comes to costs and environmental protection. Waste
management can be handled through various technological and orga-
nizational methods, using machinery and equipment of different speci-
fications under given building conditions. It complicates the decision-
making process and motivates a need for a computer system (DSS)
that could help in such decisions holistically.

In our research, three most common and rational types of techno-
logical and organizational waste management systems were identified
and implemented in the DSS system proposed here. The system offers
control over specific parameters of a given construction site and allows
one to choose the best variant of works organization and machinery
selection.

The analysis of the case study presented in this work shows that
construction site conditions may exclude the possibility of implementing
certain recovery logistics systems although that may decrease the
effectiveness of solutions. The improvement of social indicators and the
minimisation of logistic restrictions connected with the development of
a storage-recycling site within the construction can be ensured by using
smaller-size construction machines available on the market.

Restrictive conditions can also be stimulated to some extent by
changing the intensity of the waste stream, i.e. changing the technology
of demolition works. Given the observed significant interdependence of
recovery logistics systems and waste streams, especially in the area of
restrictive conditions, the system can be extended to include demolition
processes and their comprehensive evaluation.



A. Sobotka and J. Sagan

Declaration of Competing Interest

None.

Automation in Construction 128 (2021) 103734

Appendix 1. List of input/output variables, system elements and modelled processes

Table 1
Input/ output variables of the system.
Abbrev. Input variable
A% Volume of concrete building elements (walls, ceilings, beams and joists, columns and pillars, foundations, concrete substrates)
X Average thickness of building elements
reinforc Presence of the reinforcement in the element
Interfer. Expected scope of interference of demolition works
met_dec Demolition methods
Work_nr Number of workforce
W_hammer Hydraulic hammer performance
Surr_noice Determination of the noise protection zone in the surroundings of the construction site
L1 Distance of the construction work station from the areas covered by noise protection
L2 Transport distance of the crusher from the equipment base
L3 Transport distance between the stationary recycling site and the construction site
L4 Transport distance between the stationary recycling site and the storage site of a company
L5 Transport distance between the company’s storage site and the construction site
K1 Unit cost of stationary crushing service
K2 Annual cost of warehouse maintenance
K_ann Annual turnover of goods in storage
Cj Unit selling price of aggregates
w1 Preferences of the decision-maker economic aspect
w2 environmental aspect
W3 social aspect
Output variables
T start Starting time of waste management processes
extent Extension time of construction works
need_area Required storage + technological yard

Total_score

Score values of each variants

Table 2

Elements and their parameters (attributes).

Element/abbrev.

Parameter

Add. inform.’

Excavator [E1,...,E4]

Tipper [S1,...,54]

Crusher [K1,...,K4]

Container for waste
Cont (V)

motor power

engine class

deterioration factor

transient adjustment factor (TAF)

zero-hour, steady-state emission factor

age factor (fraction of median life expended)

excavator bucket volume

unit operation costs

average fuel consumption

in-use adjusted brake-specific fuel consumption

sound power level

payload,

load factor,

unit values of EI indicators of transportation processes (per tkm) for a
specified parameter (engine class, road type and share, kind of fuel and
its consumption, etc.)

unit transportation cost (per tkm).

technical performance

motor power

unit operating costs

dimensions of the machine outline
hopper size

average unit fuel consumption

engine class

deterioration factor

transient adjustment factor (TAF)
zero-hour, steady-state emission factor
age factor (fraction of median life expended)
sound power level

container capacity (V)

container surface area

10

The machine parameters were provided by manufacturers.

E:The lack of suitable ready-made models requires the implementation of
multiparametric analytical emission models, thus additional parameters were
included.

C: Unit costs were calculated based on the analysis of average fixed and
variable market costs.

S: Sound parameter was provided by the manufacturer.

E: Due to the availability, a readymade multi-parametric EI models of
transportation processes were used.

C: Average unit transport costs were used,based on industry quarterly cost
reports.

S: For safety purposes, the truck engines must be switched off when loading.
The noise of tipper engines was not taken into account due to the short-term
effect on the construction site surroundings.

The machine parameters were provided by manufacturers.

E: The lack of suitable ready-made models requires the implementation of
multiparametric analytical emission models, hence additional parameters
were included.

C: Unit costs were calculated based on the analysis of average fixed and
variable market costs.

S: Sound parameter was provide by the manufacturer.

E: The container has not been considered as a carrier of negative EI at the use
stage, no additional impact from other life cycle module of the container was

(continued on next page)



A. Sobotka and J. Sagan

Table 2 (continued)

Automation in Construction 128 (2021) 103734

Element/abbrev.

Parameter

Add. inform.’

Fuel ‘diesel’

Aggregate ‘agg’

Concrete rubble

Recycling technology
yard ‘RCA tech. yard’

Storage yard

Landfill

unit cost of waste collection service

— unit values of environmental indicators of fuel supply chain

— default fuel sulfur weight percent

— episodic fuel sulfur weight percent

— density of ON

— unit price

— density

— bulk density

— normal distribution parameters of sales prices

— demand (assumed continuous)

— Unit values of environmental category indicators for recycled
aggregates

— density

— uniform distribution parameters of the bulk density

— type of crusher

— unit costs of the crushing service

— service availability (assumed continuous)

— Annual cost of warehouse maintenance
— Annual turnover of goods in storage
— Unit selling price of aggregates

— EI indicators for the landfill process
— waste disposal unit cost
— LCA module parameters

included.

C: Functional relationships between the volume and cost of waste collection
services were determined on the basis of market research (Section 2.4.3).

S: The container has no built-in noise source.

E: For El indicator the multi-parametric environmental impact models were
applied (Section 2.4.4).

C:Unit price was assumed based on the market analyses.

S: not applicable.

E: Assumed positive impact of RA on the environment (profits).

C: The distribution parameters of the prices were determined based on the
market analyses.

S: not applicable.

E: The highest capacity crusher was assumed (K4).

C: dependents on input data.

S: due to the limitation of the scope of the impact assessment to the
construction site surroundings, no additional impact assessment was
performed.

E: no additional impacts were taken into account.

C: dependents on input data.

S: due to the limitation of the scope of the impact assessment to the
construction site surroundings, no additional impact assessment was
performed.

E: model used: EU-28:Construction waste dumping (EN15804 C4) ts.
C: dependents on input data.

S: due to the limitation of the scope of the impact assessment to the
construction site surroundings, no additional impact assessment was

performed.
Additional module
LCA module — characterisation factor of EI indicator
— weighting of environmental indicators
1 Additional information about E- environmental; S- social; C-economic aspects.
Table 3
Processes and their parameters (attributes).
Processes/abbrev. List of parameter Add. inform.

Waste stream

Loading

Transportation
process

Crushing

volume of concrete building elements (walls, ceilings, beams and
joists, columns and pillars, foundations, concrete substrates)
average thickness of building elements

presence of reinforcement in the element

expected scope of interference of demolition works

demolition methods

number of workforce

hydraulic hammer performance

average labor intensity standard and the range of its variability
(parameters of triangular distribution)

rubble parameters set

excavator parameters set

rubble parameters set

filling factor of bucket (normal distribution parameters)
operating cycle time (parameters of the log-normal distribution)
working time utilisation rate

engine load factor

characterisation and normalization factor for environmental
indicator

aggregate parameters set

fuel parameter set

LCA module parameters

— number of tipper

— tipper parameter set

— excavator parameter set

— transport distance

— average transport speed (regarding the share of roads types)
— fuel parameter set

— aggregate parameters set/ rubble parameters set

— LCA module parameters

— crusher parameter set

— excavator parameter set

11

Model was used to determine the amount of generated waste per time unit as input
data in the simulation model. Not subjected to evaluation.

Model was used to reflect the loading of tipper, crusher, container and debris
handling.

Queuing systems (M/M/1) were used in the model. The model used for both
rubble and aggregate transport.

The system assumes constant operation of the crusher, the variability of the
intensity of the process results from the diversification of the excavator efficiency.

(continued on next page)



A. Sobotka and J. Sagan

Table 3 (continued)

Automation in Construction 128 (2021) 103734

Processes/abbrev.

List of parameter

Add. inform.

Containerised waste

Stationary crushing -

distance of the technological site from areas subject to noise
protection
engine load factors
fuel parameter set
set of loading parameters
rubble parameters set
LCA module parameters
container parameters set
rubble parameters set
tipper parameter set
average transport distance of waste to landfill
Waste streams parameter
landfill parameters
LCA module parameters
RCA tech. yard
- set of parameters of the crushing process
- aggregate/rubble parameters set
- LCA module parameters

collection

The ongoing collection of containers was assumed.

References

[1]

[2]

[3]

[4]

[5]

[6

—

[7

—

[8]

[91

[10]

[11]

[12]

[13]

[14]

[15]

[16]

European Commission (DG ENV), Service Contract on Management of Construction
and Demolition Waste - SR1. Final Report Task 2, 2011 (https://doi.org/ENV.G.4/
FRA/2008/0112).

Eurostat, Recovery Rate of Construction and Demolition Waste. https://ec.europa.
eu/eurostat/tgm/table.do?tab=table&plugin=1&language=en&pcode=c
ei_wm040, 2020 (accessed March 3, 2020).

United Nations, Transforming Our World: The 2030 Agenda for Sustainable
Development, 2016, pp. 1-41. https://sustainabledevelopment.un.org/content
/documents/21252030AgendaforSustainableDevelopmentweb.pdf (accessed
March 28, 2021).

F. Pacheco-Torgal, V. Tam, J. Labrincha, Y. Ding, J. de Brito, Handbook of
Recycled Concrete and Demolition Waste, Elsevier, 2013.

J.-L. Galvez-Martos, 1.-R. Istrate, 4 - construction and demolition waste
management, in: F. Pacheco-Torgal, Y. Ding, F. Colangelo, R. Tuladhar,

A. Koutamanis (Eds.), Adv. Constr. Demolition Waste Recycl, Woodhead
Publishing, 2020, pp. 51-68, https://doi.org/10.1016/B978-0-12-819055-
5.00004-8.

A. Jindal, K.S. Sangwan, Development of an interpretive structural model of
barriers to reverse logistics implementation in Indian industry, in: J. Hesselbach,
C. Herrmann (Eds.), Glocalized Solut. Sustain. Manuf. Proc. 18th CIRP Int. Conf.
Life Cycle Eng. Tech. Univ. Braunschweig, Braunschweig, Ger. May 2nd - 4th,
2011, Springer Berlin Heidelberg, Berlin, Heidelberg, 2011, pp. 448-453, https://
doi.org/10.1007/978-3-642-19692-8_77.

B. Addis, Building with Reclaimed Components and Materials. A Design Handbook
for Reuse an Recycling, Earthscan, London, 2006, https://doi.org/10.4324/
9781849770637.

P. Gonzalez-Torre, M. Alvarez, J. Sarkis, B. Adenso-Diaz, Barriers to the
implementation of environmentally oriented reverse logistics: evidence from the
automotive industry sector, Br. J. Manag. 21 (2010) 889-904, https://doi.org/
10.1111/j.1467-8551.2009.00655.x.

R. Hillary, Environmental management systems and the smaller enterprise,

J. Clean. Prod. 12 (2004) 561-569, https://doi.org/10.1016/j.
jclepro.2003.08.006.

V. Ravi, R. Shankar, Analysis of interactions among the barriers of reverse logistics,
Technol. Forecast. Soc. Change 72 (2005) 1011-1029, https://doi.org/10.1016/j.
techfore.2004.07.002.

F. Schultmann, N. Sunke, Energy-oriented deconstruction and recovery planning,
Build. Res. Inf. 35 (2007) 602-615, https://doi.org/10.1080/
09613210701431210.

F. Schultmann, N. Snuke, Organisation of reverse logistics tasks in the construction
industry, in: SBO7 Port. Sustain. Constr. Mater. Pract. Chall. Ind. New Millenium,
2008.

A. Coelho, J. De brito, 7 - conventional demolition versus deconstruction
techniques in managing construction and demolition waste (CDW), in: F. Pacheco-
Torgal, V.W.Y. Tam, J.A. Labrincha, Y. Ding, J. de Brito (Eds.), Handb. Recycl.
Concr. Demolition Waste, Woodhead Publishing, 2013, pp. 141-185, https://doi.
0rg/10.1533/9780857096906.2.141.

A. Sobotka, J. Sagan, Cost-saving environmental activities on construction site —
cost efficiency of waste management: case study, Proc. Eng. 161 (2016) 388-393,
https://doi.org/10.1016/j.proeng.2016.08.579.

0.K.M. Ouda, H.P. Peterson, M. Rehan, Y. Sadef, J.M. Alghazo, A.S. Nizami, A case
study of sustainable construction waste management in Saudi Arabia, Waste
Biomass Valoriz. 9 (2018) 2541-2555, https://doi.org/10.1007/s12649-017-0174-
9.

B.R. Broujeni, Construction and Demolition Waste Management (Tehran Case
Study) 6 (2016) 1249-1252, https://doi.org/10.48084 /ctasr.812.

12

[17]

[18]

[19]

[20]

[21]

[22]

[23]

[24]

[25]

[26]

[27]

[28]

[29]

[30]

[31]

[32]

[33]

[34]

[35]

[36]

G. Neto, J. Correia, Environmental and economic advantages of adopting reverse
logistics for recycling construction and demolition waste: a case study of Brazilian
construction and recycling companies, Waste Manag. Res. 37 (2019), https://doi.
org/10.1177/0734242X18816790.

S.A. Mahayuddin, J.J. Pereira, W.H.W. Badaruzzaman, M.B. Mokhtar, Construction
waste management in a developing country: case study of Ipoh, Malaysia, WIT
Trans. Ecol. Environ. 109 (2008) 481-489, https://doi.org/10.2495/WM080491.
J. Drzewiecka, J. Paslawski, Disruption Analysis of Construction Processes, Oficyna
Wydawnicza Politechniki Biatostockiej, 2011. www.biswbis.pb.edu.pl.

S.-S. Leu, C.-H. Yang, J.-C. Huang, Resource leveling in construction by genetic
algorithm-based optimization and its decision support system application, Autom.
Constr. 10 (2000) 27-41, https://doi.org/10.1016/50926-5805(99)00011-4.

C.M. Tam, T.K.L. Tong, G.C.W. Chiu, . W.H. Fung, Non-structural fuzzy decision
support system for evaluation of construction safety management system, Int. J.
Proj. Manag. 20 (2002) 303-313, https://doi.org/10.1016/50263-7863(00)00055-
7.

O. Kaplinski, Development and usefulness of planning techniques and decision-
making foundations on the example of construction enterprises in Poland, Technol.
Econ. Dev. Econ. 14 (2008) 492-502, https://doi.org/10.3846/1392-
8619.2008.14.492-502.

H.K. Smith, G. Laporte, P.R. Harper, Locational analysis: highlights of growth to
maturity, J. Oper. Res. Soc. 60 (2009) S140-S148, https://doi.org/10.1057/
jors.2008.172.

R. Mohemad, A.R. Hamdan, Z.A. Othman, N. Maizura, Decision support systems
(DSS) in construction tendering processes, in: Int. J. Comput. Sci. Issues, 2010,
pp. 35-45.

E. Radziszewska-Zielina, Badania relacji partnerskich przedsi¢biorstw
budowlanych, Wydawnictwo PK, Krakéw, 2010.

A. Minasowicz, B. Kostrzewa, Analiza wielokryterialnego wyboru
najkorzystniejszej oferty w postgpowaniach przetargowych z wykorzystaniem
systemu eksperckiego opartego na przestankach rozmytych, Czas. Tech. 1-B (2010)
293-302. http://repozytorium.biblos.pk.edu.pl/resources/35434 (in Polish).

J. Bien, M. Gladysz, M. Kuzawa, Expert systems in condition assessment of bridge
spans with damage, in: Transp. Overwiew, 2013, pp. 18-25.

A. Taroun, Decision support system (DSS) for construction project risk analysis and
evaluation via evidential reasoning (ER), in: A Thesis Submitt. to Univ. Manchester
Degree Dr. Philos. Fac. Humanit, 2012. https://www.escholar.manchester.ac.
uk/api/datastream?%0A.publicationPid=uk-ac-man-scw:170293&datastrea
mld=FULL-TEXT.PDF (accessed April 9, 2021).

L. Skrzypczak, Zmodyfikowany rozmyty system ekspertowy wspomagajacy
wnioskowanie o jakosci betonu, Budwnictwo i Archit. 12 (2013) 201-207.

R. Lahdelma, P. Salminen, J. Hokkanen, Using multicriteria methods in
environmental planning and management, Environ. Manag. 26 (2000) 595-605,
https://doi.org/10.1007/5002670010118.

X. Pan, Q. Xie, Y. Feng, Designing recycling networks for construction and
demolition waste based on reserve logistics research field, J. Clean. Prod. 260
(2020), 120841, https://doi.org/10.1016/j.jclepro.2020.120841.

N. Aydin, Designing reverse logistics network of end-of-life-buildings as
preparedness to disasters under uncertainty, J. Clean. Prod. 256 (2020), 120341,
https://doi.org/10.1016/j.jclepro.2020.120341.

R. Morek, Standard for Process Times, in: http://procestechnologiczny.com.pl/
norma-czasow-technologicznych, 2016 (accessed April 15, 2016).

V. Meena, K. Suresh Babu, Study on time delay analysis for construction project
delay analysis, Int. J. Eng. Res. Technol. 4 (2015) 1076-1083, https://doi.org/
10.17577/1JERTV41S031166.

O. Kaplinski, Modeling of Construction Processes, Committee of Civil Engineering,
Polish Academy of Sciences, Warsow, 1997.

C. Maio, C. Schexnayder, K. Knutson, S. Weber, Probability distribution functions
for construction simulation, J. Constr. Eng. Manag. 126 (2000) 285-292.


http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0005
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0005
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0005
https://ec.europa.eu/eurostat/tgm/table.do?tab=table&amp;plugin=1&amp;language=en&amp;pcode=cei_wm040
https://ec.europa.eu/eurostat/tgm/table.do?tab=table&amp;plugin=1&amp;language=en&amp;pcode=cei_wm040
https://ec.europa.eu/eurostat/tgm/table.do?tab=table&amp;plugin=1&amp;language=en&amp;pcode=cei_wm040
https://sustainabledevelopment.un.org/content/documents/21252030AgendaforSustainableDevelopmentweb.pdf
https://sustainabledevelopment.un.org/content/documents/21252030AgendaforSustainableDevelopmentweb.pdf
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0020
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0020
https://doi.org/10.1016/B978-0-12-819055-5.00004-8
https://doi.org/10.1016/B978-0-12-819055-5.00004-8
https://doi.org/10.1007/978-3-642-19692-8_77
https://doi.org/10.1007/978-3-642-19692-8_77
https://doi.org/10.4324/9781849770637
https://doi.org/10.4324/9781849770637
https://doi.org/10.1111/j.1467-8551.2009.00655.x
https://doi.org/10.1111/j.1467-8551.2009.00655.x
https://doi.org/10.1016/j.jclepro.2003.08.006
https://doi.org/10.1016/j.jclepro.2003.08.006
https://doi.org/10.1016/j.techfore.2004.07.002
https://doi.org/10.1016/j.techfore.2004.07.002
https://doi.org/10.1080/09613210701431210
https://doi.org/10.1080/09613210701431210
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0060
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0060
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0060
https://doi.org/10.1533/9780857096906.2.141
https://doi.org/10.1533/9780857096906.2.141
https://doi.org/10.1016/j.proeng.2016.08.579
https://doi.org/10.1007/s12649-017-0174-9
https://doi.org/10.1007/s12649-017-0174-9
https://doi.org/10.48084/etasr.812
https://doi.org/10.1177/0734242X18816790
https://doi.org/10.1177/0734242X18816790
https://doi.org/10.2495/WM080491
http://www.biswbis.pb.edu.pl
https://doi.org/10.1016/S0926-5805(99)00011-4
https://doi.org/10.1016/S0263-7863(00)00055-7
https://doi.org/10.1016/S0263-7863(00)00055-7
https://doi.org/10.3846/1392-8619.2008.14.492-502
https://doi.org/10.3846/1392-8619.2008.14.492-502
https://doi.org/10.1057/jors.2008.172
https://doi.org/10.1057/jors.2008.172
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0120
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0120
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0120
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0125
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0125
http://repozytorium.biblos.pk.edu.pl/resources/35434
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0135
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0135
https://www.escholar.manchester.ac.uk/api/datastream?%0A.publicationPid=uk-ac-man-scw:170293&amp;datastreamId=FULL-TEXT.PDF
https://www.escholar.manchester.ac.uk/api/datastream?%0A.publicationPid=uk-ac-man-scw:170293&amp;datastreamId=FULL-TEXT.PDF
https://www.escholar.manchester.ac.uk/api/datastream?%0A.publicationPid=uk-ac-man-scw:170293&amp;datastreamId=FULL-TEXT.PDF
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0145
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0145
https://doi.org/10.1007/s002670010118
https://doi.org/10.1016/j.jclepro.2020.120841
https://doi.org/10.1016/j.jclepro.2020.120341
http://procestechnologiczny.com.pl/norma-czasow-technologicznych
http://procestechnologiczny.com.pl/norma-czasow-technologicznych
https://doi.org/10.17577/IJERTV4IS031166
https://doi.org/10.17577/IJERTV4IS031166
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0175
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0175
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0180
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0180

A. Sobotka and J. Sagan

[37]
[38]

[39]
[40]
[41]
[42]

[43]
[44]

[45]
[46]
[47]
[48]

[49]

[50]

[51]
[52]
[53]
[54]
[55]

[56]

A. Sobotka, Logistics of Companies and Projects Construction, 2010.

B. Hota, J. Mrozowicz, Modelowanie procesow budowlanych o charakterze
losowym, Dolnoslaskie Wydawnictwo Edukacyjne, Wroctaw, 2003.

Z. Tokarski, Recykling w budownictwie drogowym, Bydgoszcz, 2005.

CEN, EN 1991 Eurocode 1: Actions on Structures, 2008.

Instytut Transportu Samochodowego, Predkos¢ pojazdéw w Polsce w 2015 r. Sesja
I, Warszawa, 2015.

Sekocenbud, Price List of Material Expenditures in the Second Quarter of 2017.
Human Labour and Equipment., 2017.

W. Adamczyk, Ekologia wyrobéw: jakos¢, cykl zycia, projektowanie, PWE, 2004.
A. Lesiuk, P. Oleszczuk, M. Kusmierz, Zastosowanie techniki LCA w ekologicznej
ocenie produktéw, technologii i gospodarce odpadami, in: R. Janusz (Ed.),
Adsorbenty i Katal. Wybrane Technol. A Srodowisko, Uniwersytet Rzeszowski,
2012, pp. 453-466.

J. Kulczycka, Ekologiczna ocena cyklu zycia (LCA) nowa technika zarzadzania
srodowiskiem, Wydawnictwo IGSMIE PAN, Krakéw, 2001.

Z. Kowalski, J. Kulczycka, M. Goralczyk, Ekologiczna ocena cyklu zycia proceséw
wytworezych (LCA), Wydawnictwo Naukowe PWN, Warszawa, 2007.

ISO 14040-Environmental management - Life Cycle Assessment - Principles and
Framework, 2006, https://doi.org/10.1016/j.ecolind.2011.01.007.

EN 15643-2:2011 - Sustainability of Construction Works - Assessment of Buildings -
Part 2 : Framework for the Assessment of Environmental Performance, 2011.
CML, Department of Industrial Ecology, CML-IA Characterisation Factors. https://
www.universiteitleiden.nl/en/research/research-output/science/cml-ia-character
isation-factors, 2020 (n.d., accessed May 21, 2018).

V. Castellani, L. Benini, S. Sala, R. Pant, A distance-to-target weighting method for
Europe 2020, Int. J. Life Cycle Assess. 21 (2016) 1159-1169, https://doi.org/
10.1007/s11367-016-1079-8.

Thinkstep, GaBi Software. http://www.gabi-software.com, 2018 (accessed January
22, 2018).

EPA, Median Life, Annual Activity, and Load Factor Values for Nonroad Engine
Emissions Modeling, 2010.

M. Klanfar, T. Korman, T. Kujundzi¢, Fuel consumption and engine load factors of
equipment in quarrying of crushed stone, Teh. Vjesn. 23 (2016) 163-169, https://
doi.org/10.17559/TV-20141027115647.

BRE, Environmental Product Declaration nr 000104. Readymix Concrete, 2016.
G.T. Fechner, Elemente der Psychophysik [Elements of psychophysics], Breitkopf
und Hartel, Leipzig, 1860.

B. Raczkowski, BHP w praktyce, Osrodek Doradztwa i Doskonalenia Kadr Sp.z 0.0,
Gdansk, 2007.

13

[57]

[58]

[59]

[60]

[61]

[62]
[63]

[64]

[65]

[66]

[67]

[68]

[69]

[70]

[71]

Automation in Construction 128 (2021) 103734

Z. Irani, M.M. Kamal, Intelligent systems research in the construction industry,
Expert Syst. Appl. 41 (2014) 934-950, https://doi.org/10.1016/j.
eswa.2013.06.061.

A. Dziadosz, A. Konczak, Decision-making process in the construction industry,
Arch. Civ. Eng. 62 (2016) 111-126.

J. Paslawski, Flexible approach for construction process management under risk
and uncertainty, Proc. Eng. 208 (2017) 114-124, https://doi.org/10.1016/j.
proeng.2017.11.028.

K. Kabirifar, M. Mojtahedi, C. Wang, V.W.Y. Tam, Construction and demolition
waste management contributing factors coupled with reduce, reuse, and recycle
strategies for effective waste management: a review, J. Clean. Prod. 263 (2020),
121265, https://doi.org/10.1016/j.jclepro.2020.121265.

C.J. Kibert, J. Sendzimir, B. Guy, Construction ecology and metabolism: natural
system analogues for a sustainable built environment, Constr. Manag. Econ. 18
(2000) 903-916, https://doi.org/10.1080/014461900446867.

A. Chini, S. Bruening, Deconstruction and Materials Reuse in the United States,
IeJC, 2003, pp. 1-22.

P. Sassi, Designing buildings to close the material resource loop, Proc. Inst. Civ.
Eng. 157 (2004) 163-171, https://doi.org/10.1680/ensu.2004.157.3.163.

S. Pun, C. Liu, J. Li, Salvage material logistics management for building demolition
project, in: T.F. Fwa (Ed.), Proc. 1st Int. Conf. Transp. Logist, National University of
Singapore, Dept. of Civil Engineering, 2005, pp. 1-10.

K. Kabirifar, M. Mojtahedi, C. Changxin Wang, T. Vivian, A conceptual foundation
for effective construction and demolition waste management, Clean. Eng. Technol.
1 (2020), 100019, https://doi.org/10.1016/j.clet.2020.100019.

H. Shima, H. Tateyashiki, R. Matsuhashi, Y. Yoshida, An advanced concrete
recycling technology and its applicability assessment through input-output
analysis, J. Adv. Concr. Technol. 3 (2005) 53-67, https://doi.org/10.3151/
jact.3.53.

EN 15643-1:2010, Sustainability of Construction Works -Sustainability Assessment
of Buildings - Part 1 : General Framework, 2010, pp. 1-25.

BGIA, Exposure to Quartz at the Workplace, German Social Accident Insurance
(DGUV), 2008.

M.E. Flanagan, N. Seixas, M. Majar, J. Camp, M. Morgan, Silica dust exposures
during selected construction activities, AIHA J. 64 (2003) 319-328.

L. Kirkeskov, D.J.A. Hanskov, C. Brauer, Total and respirable dust exposures
among carpenters and demolition workers during indoor work in Denmark,

J. Occup. Med. Toxicol. 11 (2016) 1-8, https://doi.org/10.1186/512995-016-
0134-5.

W. Lu, Y. Peng, C. Webster, J. Zuo, Stakeholders’ willingness to pay for enhanced
construction waste management: a Hong Kong study, Renew. Sust. Energ. Rev. 47
(2015) 233-240, https://doi.org/10.1016/j.rser.2015.03.008.


http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0185
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0190
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0190
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0195
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0200
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0205
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0205
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0210
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0215
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0215
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0215
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0215
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0220
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0220
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0225
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0225
https://doi.org/10.1016/j.ecolind.2011.01.007
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0235
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0235
https://www.universiteitleiden.nl/en/research/research-output/science/cml-ia-characterisation-factors
https://www.universiteitleiden.nl/en/research/research-output/science/cml-ia-characterisation-factors
https://www.universiteitleiden.nl/en/research/research-output/science/cml-ia-characterisation-factors
https://doi.org/10.1007/s11367-016-1079-8
https://doi.org/10.1007/s11367-016-1079-8
http://www.gabi-software.com
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0255
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0255
https://doi.org/10.17559/TV-20141027115647
https://doi.org/10.17559/TV-20141027115647
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0265
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0270
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0270
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0275
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0275
https://doi.org/10.1016/j.eswa.2013.06.061
https://doi.org/10.1016/j.eswa.2013.06.061
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0285
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0285
https://doi.org/10.1016/j.proeng.2017.11.028
https://doi.org/10.1016/j.proeng.2017.11.028
https://doi.org/10.1016/j.jclepro.2020.121265
https://doi.org/10.1080/014461900446867
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0305
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0305
https://doi.org/10.1680/ensu.2004.157.3.163
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0315
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0315
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0315
https://doi.org/10.1016/j.clet.2020.100019
https://doi.org/10.3151/jact.3.53
https://doi.org/10.3151/jact.3.53
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0330
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0330
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0335
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0335
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0340
http://refhub.elsevier.com/S0926-5805(21)00185-0/rf0340
https://doi.org/10.1186/s12995-016-0134-5
https://doi.org/10.1186/s12995-016-0134-5
https://doi.org/10.1016/j.rser.2015.03.008

	Decision support system in management of concrete demolition waste
	1 Introduction
	2 Methodology
	2.1 Assumptions
	2.2 Concept of system development
	2.3 Description of waste management systems
	2.3.1 Waste recycling on a construction site by mobile machinery
	2.3.2 Waste recycling on a stationary waste processing site
	2.3.3 Transporting waste to business entities for utilization

	2.4 Mathematical modelling
	2.4.1 Waste stream
	2.4.2 Description of the elements of the waste management systems
	2.4.3 Costs
	2.4.4 Environmental impact
	2.4.5 Social impact

	2.5 Multi-criteria analysis module
	2.6 Transformation of model into DSS

	3 Results
	4 Discussion
	5 Summary
	Declaration of Competing Interest
	Appendix 1 List of input/output variables, system elements and modelled processes
	References


